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Q1

Ans

‘A + B’ means A is the brother of B. If ‘A - B’ means ‘A is the sister of B’, ‘A * B’ means
‘A is the husband of B’, ‘A + B’ means ‘A is the mother of B’ and ‘A @ B’ means ‘A is

the father of B’. Which of the following expression represents P as the father in law of
S? :

W AQ+R-P@T*S
X BP*R-Q+T@S
KX CP-Q@R+S-T
XDT@Q+S*P-R

Question ID':. 1034352839

Q.2

Ans

In the following question, a group of letters is given. The letters of each group are
related with the letters of the same group by some Logic/Rule/Relation. From the given
alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(VM, WN, XO)
< A. (AD, BE, CG)
X B. (EP, DQ, CR)
& C. (ST, TU, UV)
X D. (N, LO, MP)

Question ID : 1034352834

Q.3

Ans

In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from'commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:

I. All A are B.

Il. Some B are C.

1Il. All C are D.
Conclusions:

. Some A are D.

Il. Some C are A.

Ill. Some B are D..~

< A Only lI
«” B. Only Il
X C.lland lll
25 D.Only |

Question ID : 1034352841
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Q.4 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:

I. All A are B.

Il. Some B are C.

Conclusions:

. Some A are C.

Il All B are A. ,@

Ans X A. Only conclusion I follows

#< B. Both conclusion | and Il follows
«” C. Neither conclusion follows

#< D. Only conclusion Il follows

Q.5 A series is given with one term wrong. Select that wrong term from
alternatives.

4,2,2,3,6,15, 45, 157.
Ans X A.6
X B.15
X C.45
& D. 157

Q.6 Based on the given venn diagram, which of the fo
I. The number of chairs which are water is 28.
Il. Number of books which are not chair is 52.

Book

Ans X A. Neitehr I norll
#< B.Bothland Il
< C.Onlyl
o D.Only Il

Question ID : 1034352845

Ans X A 16

 B.20
X cC.22
X D.18

Question ID : 1034352850
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Q.8 Ravi starts walking towards the north. He turns to the right. Then he turns to the left.
Finally, he turns to the right at the angle of 45 degree. In which direction is he walking

now?
Ans o A. North-East

< B. North-West
< C. East
< D. South-West

: 1034352846

Q.9 A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.

OS, SN, WI, AD, EY, ?

Ans X A.JU
& B.IT
X c.u k
X DT $

‘you belon

Q.10 In a certain code language, ‘l belong to you’ is written as ‘# @ C
©'. What is th

them’ is written as ‘© @ % *', ‘we belong them’ is written as *
for ‘we to you’ in that code language?

Ans A +T@
X B %0O* Q
KC%*@ #"
XD.+@0 & '
‘ - Question ID : 1034352836
Q.11 Raju walks 70 metres towards the sout turns he le
turns to the right and walks 70 metres turns t 2 righ ]
Finally, he turns to the right and wal metres far i i ion is he

now from the starting point?
Ans X A. 120 metres, South-East

< B. 130 metres, South-West
o# C. 130 metres, South-E3
#< D. 120 metres, South

: b Question ID : 1034352847

Q.12 Arrange the give rds int eque i i ccur in the dictionary.

1. Cardiodyni
2. Cardiospas
3. Carburetti

4. Carb :
5. Carc enic
Ans o A84512
X B. 34521
X C. 43512
#< D. 43521

Question ID : 1034352832
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Q.13 How many cows are cars but not pens?

Pen A Cow
Car
Ans o A5
X B.12
X C.36
XD.7

mark (?) from the given alternatives.

T + |[* .e
3 . ? |let
T .

Ans Y
KA |m
*

7T

X B |&
+

$ e

XC |e
&

L 2

S0 |
+

Q.14 In the following question, select the figure which can be placed at the

Question ID : 1034352848

Ans X A. Mango
«” B. Cabbage

Question ID : 1034352833
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Q.16 In the following question, select the number which can be placed at the sign of
question mark (?) from the given alternatives.

16 8 [13
171 12 | 23
21| 15|19
162|105 ?
Ans X A. 135 ‘&
X B. 187
X C.137
« D. 165

Q.17 In the following question, select the related letter pair from the given alternati

RCT: TZY :: ? a &
Ans X A.VPL:XMU 6&
< B.JSN:LPR
X C.CJX:AGD #§

& D. MQF : ONK

Yy

Questio 4352835

Q.18 Two positions of a dice are shown. When 2 is at bottom

the top?
oo s o~
Ans X A. 4
X B.6
xXc3
o« D. 1
Question ID : 1034352849
Q.19 Five persons A,B,C,D a sitin g v h (not necessarily in
the same order). One per i ¢ E [ on sits between E and A.

One person sits between
extreme ends?

Ans o A.CandD
X B.BandE
& C.Cand
< D.Band

o Question ID : 1034352837
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Q.20 Six students P, Q, R, S, T and U go to six different schools S1, S2, S3, S4, S5 and S6
(not necessarily in the same order) No two students go to the same school. U goes to
one school among S2 and S6. Q does not go to S3 and S5. R goes to S1. P does not go
to S3. T does not go to S3, S4, S5 and S6. Which of the following combination is not
correct?

Ans X A.S-S3
X B.Q-S4
X C.P-S5
o D. U-S2 2

ID : 1034352838

Section : General Awareness

Q.1 Which of the following statement is correct?
I. In Angiosperms, seeds develop inside an ovary which is modified.to bec
Il. Bryophytes are called amphibians of the plant kingdom.

Ans X A.Onlyll

&

&

<

Questio@%&ﬂ

§

«” B.Both land Il

< C.Onlyl
25 D. Neither I nor Il

Q.2 National Small Industry Day in India is observed eve
Ans X A. 30 September

#< B. 30 July
#< C. 30 October
o D. 30 August

S
&>

‘ Question ID : 1034352864

Q.3 Which of the following statement is
I. Kamaicha is a type of stringed i
Il. Tabla is a type of percussion

Ans X A. Onlyl
X B.onyll
< C. Neither I nor Il
«” D.Both land I

Question ID : 1034352852

o

#< D. Rajasthan

Question ID : 1034352858
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Q.5 Which of the following statement is correct?
I. India shares its land boundaries with seven countries.
Il. Sri Lanka is separated from India by a narrow channel of sea formed by the Palk
Strait and the Gulf of Mannar.

Ans X A.Onlyll

#< B.Only |
” C.Bothland Il

#< D. Neither I nor Il &

: 1034352860

Q.6 GATT was established in
Ans X A. 1945

X B.1949
o C.1948
X D. 1946

Q.7 Which of the following statement is correct?

the weighted average call money rate.
1. Open market operations include both, outright purchase an
securities for injection and absorption of durable liquidity re

Ans X A. Onlyll
«” B.Bothland Il
< C. Neither I nor Il

2 D.Only

Q.8 Which article of Indian constitution deals
Ans X A. Article 48

X B. Article 49
#< C. Article 45
o« D. Article 44

Question ID : 1034352867

Q.9 Which of the followi
I. Barley
1. Jowar

Ans X A.Onlyl

Question ID : 1034352859

Q.10 Avani Lekhara is
Ans X A.Badminton

with which sports?

#< B. Table Tennis
o C. Shooting
#< D. Swimming

Question ID : 1034352869
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Q.11 Tenth schedule of Indian constitution deals with
Ans & A. provisions as to disqualification on ground of defection

/< B. allocation of seats in the council of states
#< C. Languages

#< D. forms of oaths or affirmations

Quﬁion ID : 1034352868

Q.12 Which of the following institute has developed “e-source” that will serve as on online
marketplace for waste Electrical and Electronic Equipment?

Ans X A.IIT Ropar
25 B.IIT Kanpur
< C.IIT Delhi
«” D. lIT Madras

Question ID : 3528 ‘b

Q.13 World EV day is celebrated every year on
Ans X A. 8 September

< B. 12 September
#< C. 6 September
«” D. 9 September

Q.14 The breakdown of pyruvate using oxygen takes p
Ans X A. Cytoplasm

#< B. Nucleus
«” C. Mitochondria
< D. Ribosomes

Question ID : 1034352856

Q.15 In which year Non-cooperatior andhi?
Ans X A.1920
& B.1919
2 C. 1921

o D. 1922

Question ID : 1034352861

Q.16 Sattriya is the
Ans o F AL

X B.
X C. Kerala

#< D. Manipur

Question ID : 1034352851
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Q.17 Which of the following statement is correct?
I. Hampi was the capital of the Vijayanagar Empire.
Il. In 1687 Mughal Emperor Aurangzeb annexed Golconda.

Ans X A. Onlyll
o” B.Both land Il

< C.Onlyl
25 D. Neither I nor Il

: 1034352863

Q.18 In which year Sher Khan defeated Humayun at Chausa?
Ans X A. 1540

X B. 1542
< C. 1541
«” D. 1539

Q.19 Headquater of International Cricket Council is situated in
Ans  # A. Dubai

#< B. Melbourne
#< C. London
#< D. Johannesbury

Q.20 Atomic mass of Calcium is
Ans o A 40

X B.38
X C.39
X D.42

ID : 1034352870

Qb

=

Question ID : 1034352855
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Section : Arithmetic Ability

Q.1 If 8.5 percent of a nu
the value of the num

Question ID : 1034352877

Q.2 If the Least Common M
M respectively, th

Ans X A. 342
X B.315
& C.336
X D. 357

the value of L + M?

Common Factor of 63, 105 and 21 are L and

Question ID : 1034352875
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Q.3 Deepak alone can do a work in 30 hours. Deepak and Rahul together can do the same
work in 20 hours. Rahul and Varun together can do the same work in 15 hours. In how
many hours can Varun alone do the same work?

Ans X A.25hours
< B. 22 hours
#< C. 17 hours
«” D. 20 hours

: 1034352885

Q.4 A trader sells a shirt at the profit of 40 percent. Had he bought that shirt at 20 percent
less price and sold it at Rs. 100 less, then he would have earned a profit of 40 perce
What is the cost price of the shirt? ;

Ans o A Rs.357.14

X B.Rs. 350
X C.Rs. 420.36
2 D. Rs. 366.66

Q.5 The sum of circumference and diameter of a circle is 116 cm.
circle?

Ans X A.21cm
< B.35cm
X C.28cm
o’ D.14cm

~

stion ID : 1034352886

School Boys Girls
A 250 '
B 100 Q
C 120 '
D 105 b’

E 200

J1 = The value of average
J2 = The difference betw
schools.

What is the value of (

Ans X A.33:31

mber of girls in all

X B.40:39

0 Question ID : 1034352888

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802242/125802242S3D1429/16476856398731280/1...

10/46



4/5/22, 3:27 PM

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802242/125802242S3D1429/16476...

Ans

Q.7 The bar graph given below shows the production of rice by six states.

120

0
70
50

s1

1L L

52 83 54 85 56

The production of rice by S2 is what percent of the production of rice by S6?

o A. 250
X B.60P
< C.200

Percent
#< D. 40 Percent
. F -
{ -

Percent

ercent

&

>

Ans

Q.8 What is the difference between 2/3 of 17/4 of 288 and 1/5 of

X A.780
2 B. 800
X c.810
& D.790

§§

Question ID : 1034352874

5857

Ans

Q.9 Average of 10 numbers is 74. If a number.

Which num
7 A.96
X B. 117
X C.123

& D. 101

ber was removed?

Question ID : 1034352876
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Q.10 The line chart given below shows the cost price and selling price of eight articles.

1500
1400

900
500 Vod

300

Al A2 A3 A4 A5 A6 AT A8

—e—Cost Price —# Selling Price

Profit percentage = [(Selling price — cost price)/cost price] x 100
Which of the following is in the correct sequence of profit percentag‘

Ans X A .A4>A1>A3>A8>A6>A5>A7>A2
72X B.A4>A1>A3>A6>A8>A5>A2>A7
o C.A4>A1>A3>A6>A8>A5>A7>A2
X D.A5>A4>A1>A3>A6>A8>A7>A2

Questio 34352890

Q.11 What is the value of 1.75 x 1.75 - 3.5 x 0.75 + 0.75 x 0.7,
Ans X A.0.625

L
X B.0.75 E\
X C.2
& D.1 A
i b Question ID : 1034352873
: . -~ -,
Q.12 A person lent certain sum of mone e annu percent on ple interest

and the interest received in 6 year.
lent?

Ans X A.Rs. 2000
« B. Rs. 2200

880 less than the sum Ie:E Vhat is the sum

2 C.Rs. 1760
X D. Rs. 2400

Question ID : 1034352882

Q.13 75 percent of P’s i is equal to 37.5 perc Q’s income. If P’s income is Rs.
24000, then what is Q me?

Ans X AR »
X B.Rs. 2800 o
o” C. Rs. 48000
< D.Rs. 24000

Question ID : 1034352878
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Q.14 What is the value of 45 + 20 x 3 + (4 x 5) + 88?
Ans X A 126

X B.116
 C.136

X D. 146

Qu*ion ID : 1034352871

Q.15 In a school, 7/9 of the students are girls. If the number of boys is 144, then what is the
number of girls?

Ans X A 112
« B. 504

X C.144
X D.648

Q.16 Pulkit starts walking from G towards H. Ramesh starts walking from
the same time. The speed of Pulkit and Ramesh are 30 km/hr and 18
respectively. After meeting each other, time taken by Ramesh to
What is the time taken by Pulkit to reach H after meeting Ramesh?

Ans X A. 24 hours
#< B. 21 hours
< C. 30 hours
o” D. 27 hours

Q.17 Mixture of milk and water in three bottles of e
2 : 3 respectively. These three bottles are en
ratio of milk and water respectively in the

Ans X A.108:71
& B.109: 71
2 C.109: 81
X D.110:71

Q.18 The ratio of speed of tt
by the three racers to

Ans X A.6:3:4
KX B.6:3:1
K C.3:2:

o D.6:3s Q

0 Question ID : 1034352880

Q.19 Radius of a hemisphere i cm. Nevalue of volume of hemisphere is equal to

the 4 times the nu ue of area of a rectangle. Length of the rectangle is 11
times of the brea s the perimeter of this rectangle?

Ans o A. 504 cm
#< B.420 cm
X C.252cm
< D.210 cm

Question ID : 1034352887
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Q.20 Two trains are moving in the same direction at the speed of 67 km/hr and 107 km/hr.
The time taken by faster train to cross a man sitting in the slower train is 18 seconds.
What will be the length of the faster train?

Ans X A. 340 metres
< B. 280 metres
«” C. 200 metres
< D. 160 metres

: 1034352883

Section : General English

Q.1 In the following question, out of the given four alternatives, select the alternativ,
which best expresses the meaning of the Idiom/Phrase.

An eye for an eye
Ans & A. Retaliation

#< B. A cause for anger
X C. To speak frankly
#< D. Weak in health

Question Q 4352903

Q.2 Choose the word that means the same as the given wor;

Cloudy
Ans X A. Danger

L

§

o B. Unclear
#< C. Diminish h
X D. Down %
' . ‘ i Question ID : 1034352899
; ; T
Q.3 In the following question, out of g our alternatives, select alternative
which best expresses the meani m/Phrase.

To bite the dust
Ans X A.To be a slave of so

Q?
« B. To die b
75 C.Inunder deve Q

#< D. To fall on yg

Q Question ID : 1034352904

Q.4 Select the ' on to substi e underlined segment in the given
sentenc S d, select ‘No improvement’ as your answer.
Soon after the mences then the board calls for the chairman’s
resignation. ‘

Ans X A. Soon after the megting commences when

o B. No sooner eeting commenced than
#< C. No improvement

#< D. As soon as the meeting commenced when

Question ID : 1034352894

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802242/125802242S3D1429/16476856398731280/1...

14/46



4/5/22, 3:27 PM https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802242/125802242S3D1429/16476...

Q.5 In the given question, four words are given out of which one word is correctly spelit.
Choose the correctly spelt word.

Ans ¥ A Privilege
#< B. Priviledge
25 C. Privilage
#< D. Privelege

ngi n ID : 1034352901

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No improvement’ as your answer.

All states impose severe penalties on drivers that drive when he or she is drunk.

Ans X A.Noimprovement
#< B. drivers which drive when he or she are drunk
o C. drivers who drive when they are drunk

#< D. drivers which drive when they are drunk

P. In case you are not familiar with them, resistance bands &
band.
Q. Resistance-band exercises have been all over social m
R. You can loop them around your legs or arms, for exa
tension while you work out.

S. This tension makes it more difficult to do movem

Ans X A.QSPR
X B.RQPS
o C.QPRS
2 D. SPQR

‘ - Question ID : 1034352898

Q.8 Choose the word that is opposite

Dilettante
Ans X A.lnept

< B. Swallow
«” C. Ace

g to the give word. b

y
&
>

< D. Amateur

Question ID : 1034352900

Q.9 In the giv. i i which one word is correctly spelt.

Ans

#< C. Phinix
< D. Pheenix

Question ID : 1034352902
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Q.10 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

The government has smoking in public places.
Ans X A. avoided

#< B. prevented

X C. stopped

«” D. banned @

: 1034352896

Q.11 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’. .

Slashing expenditure to compress the deficit (1)/ and please the rating agencies
do (2)/more harm than good for economic revival (3)/. No error (4)

Ans X A.2
o B.4
Xca cfo{.‘:-
X D. 1

Q.12 Find the part of the given sentence that has an error in it. If
‘No error’. 4

Women are getting educated (1)/ and affluent, and is (2

(3)/.No error (4)
Ans A2 ”\
X B.1 &
X C.4a
X D.3

Q.13 A sentence has been given with a
the correct alternative.

They were sitting
Ans X A. with

" B. by
75 C.into

Question ID : 1034352895

S. be mobilized or called
Ans o A.PQRS

X B.RPSQ
2 C.QPRS
X D.PSQR

Question ID : 1034352897
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Q.15 Choose the word that can substitute the given sentence.

A person who leads an immoral life
Ans X A. Hedonist

o B. Libertine
< C. Salubrious
< D. Debonair

D : 1034352905

Comprehension:

Read the following information carefully and answer the given questions.

The devastation caused by extreme weather in Tamil Nadu remains a damning indictme
India’s ability to effectively address such emergencies, whether that be taking prevent
measures or actually coping with the aftermath with a proper disaster management p
Cyclone Gaja saw 45 deaths reported, crops destroyed and livestock killed. One fa

destroyed. People were traumatised in coastal districts that were unprepared:fo & ‘g
speed of 160km/h — a category 2 tropical cyclone according to the Saffir-Simp ; %

been found.

India is part of the Sendai Framework, an organisation that help: i
adopt disaster risk reduction as a key goal in achieving a sustai iety. The country 4 ‘
only released its first national disaster management plan in 20 € of the states on

the Bay of Bengal having a history of extreme weather eve
Cyclone Gaja stands as a warning to international disaster
the countries they work with more thoroughly for future
clear that taking measures to limit the extent of disaste

vork that helps

.emergency, crucially with tEer A
3 Deva dg

developing countries to facilitate an effective respc
help of other, more developed nations.

SubQuestion No : 16
Q.16 Which of the following words is opposi
Ans X A. Inculcate :

25 B. Uprooted
o C. Patched
< D. Wreck

Question ID : 1034352911
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Comprehension:

Read the following information carefully and answer the given questions.

The devastation caused by extreme weather in Tamil Nadu remains a damning indictment on
India’s ability to effectively address such emergencies, whether that be taking preventative
measures or actually coping with the aftermath with a proper disaster management plan.
Cyclone Gaja saw 45 deaths reported, crops destroyed and livestock killed. One farmer
committed suicide after his small coconut plantation — his main source of income — was
destroyed. People were traumatised in coastal districts that were unprepared for winds of the
speed of 160km/h — a category 2 tropical cyclone according to the Saffir-Simpson hurricane

wind scale. Millions of trees were uprooted, agricultural land devastated, transportation ‘&
blocked by debris, communications downed and there were power outages for eight weeks.
Three months on and there is still only a limited power supply to some remote areas.

It was this very same southern state which faced Cyclone Ockhi in 2017, Cyclone Vardah in
2016, man-made flooding in Chennai in 2015, and of course, the Boxing Day Indian Ocean
tsunami in 2004. Around 300 Tamil Nadu fishermen missing after Cyclone Ockhi have never,
been found.

India is part of the Sendai Framework, an organisation that helps participating countries
adopt disaster risk reduction as a key goal in achieving a sustainable society. The cou
only released its first national disaster management plan in 2016, despite all of the ste
the Bay of Bengal having a history of extreme weather events.
Cyclone Gaja stands as a warning to international disaster organisations; they mus
the countries they work with more thoroughly for future weather disasters:They n
clear that taking measures to limit the extent of disaster cannot be volunt;ﬁ)

It will take months to clear the debris and repair the infrastructure, and years f
entire villages across Tamil Nadu. It is time to establish a proper framewor
developing countries to facilitate an effective response to an emergency,
help of other, more developed nations.

SubQuestion No : 17
Q.17 Which of the following words is similar in meaning to the the
Ans X A. Coercive

/< B. Sultry
&# C. Volitional

&

&
O
&
§

< D. Novice ¥

&étion ID : 1034352910
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Comprehension:

Read the following information carefully and answer the given questions.

The devastation caused by extreme weather in Tamil Nadu remains a damning indictment on
India’s ability to effectively address such emergencies, whether that be taking preventative
measures or actually coping with the aftermath with a proper disaster management plan.
Cyclone Gaja saw 45 deaths reported, crops destroyed and livestock killed. One farmer
committed suicide after his small coconut plantation — his main source of income — was
destroyed. People were traumatised in coastal districts that were unprepared for winds of the
speed of 160km/h — a category 2 tropical cyclone according to the Saffir-Simpson hurricane

wind scale. Millions of trees were uprooted, agricultural land devastated, transportation ‘&
blocked by debris, communications downed and there were power outages for eight weeks.
Three months on and there is still only a limited power supply to some remote areas.

It was this very same southern state which faced Cyclone Ockhi in 2017, Cyclone Vardah in
2016, man-made flooding in Chennai in 2015, and of course, the Boxing Day Indian Ocean
tsunami in 2004. Around 300 Tamil Nadu fishermen missing after Cyclone Ockhi have never,
been found.

India is part of the Sendai Framework, an organisation that helps participating countries
adopt disaster risk reduction as a key goal in achieving a sustainable society. The cou
only released its first national disaster management plan in 2016, despite all of the ste
the Bay of Bengal having a history of extreme weather events.
Cyclone Gaja stands as a warning to international disaster organisations; they mus
the countries they work with more thoroughly for future weather disasters:They n
clear that taking measures to limit the extent of disaster cannot be volunt;ﬁ)

It will take months to clear the debris and repair the infrastructure, and years f
entire villages across Tamil Nadu. It is time to establish a proper framewor
developing countries to facilitate an effective response to an emergency,
help of other, more developed nations.

SubQuestion No : 18
Q.18 Which of the following cyclones has not been mentioned in th
Ans X A. Cyclone Gaja

&

o B. Cyclone Amphan . Z
#< C. Cyclone Vardah Q

25 D. Cyclone Ockhi ¥

&étion ID : 1034352907
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Q.19

Ans

Comprehension:

Read the following information carefully and answer the given questions.

The devastation caused by extreme weather in Tamil Nadu remains a damning indictment on
India’s ability to effectively address such emergencies, whether that be taking preventative
measures or actually coping with the aftermath with a proper disaster management plan.
Cyclone Gaja saw 45 deaths reported, crops destroyed and livestock killed. One farmer
committed suicide after his small coconut plantation — his main source of income — was
destroyed. People were traumatised in coastal districts that were unprepared for winds of the
speed of 160km/h — a category 2 tropical cyclone according to the Saffir-Simpson hurricane
wind scale. Millions of trees were uprooted, agricultural land devastated, transportation
blocked by debris, communications downed and there were power outages for eight weeks.
Three months on and there is still only a limited power supply to some remote areas.

It was this very same southern state which faced Cyclone Ockhi in 2017, Cyclone Vardah in
2016, man-made flooding in Chennai in 2015, and of course, the Boxing Day Indian Ocean
tsunami in 2004. Around 300 Tamil Nadu fishermen missing after Cyclone Ockhi have never,
been found.

India is part of the Sendai Framework, an organisation that helps participating countries to
adopt disaster risk reduction as a key goal in achieving a sustainable society. The country
only released its first national disaster management plan in 2016, despite all of the states on
the Bay of Bengal having a history of extreme weather events.

Cyclone Gaja stands as a warning to international disaster organisations; they must prepare
the countries they work with more thoroughly for future weather disasters:They need to make
clear that taking measures to limit the extent of disaster cannot be voluntary, but mandatory.
It will take months to clear the debris and repair the infrastructure, and years to rehabilitate
entire villages across Tamil Nadu. It is time to establish a proper framework that helps
developing countries to facilitate an effective response to an emergency, crucially with the
help of other, more developed nations.

SubQuestion No : 19

Read the given passage and rearrange the given natural disasters chronologically in
the ascending order.

A. The Boxing Day Indian Ocean tsunami

B. Cyclone Ockhi

C. Man-made flooding in Chennai

X A.BCA
X B.BAC
X C.CAB
«" D.ACB

Question ID

- 1034352909
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Comprehension:

Read the following information carefully and answer the given questions.

The devastation caused by extreme weather in Tamil Nadu remains a damning indictment on
India’s ability to effectively address such emergencies, whether that be taking preventative
measures or actually coping with the aftermath with a proper disaster management plan.

Cyclone Gaja saw 45 deaths reported, crops destroyed and livestock killed. One farmer
committed suicide after his small coconut plantation — his main source of income — was
destroyed. People were traumatised in coastal districts that were unprepared for winds of the
speed of 160km/h — a category 2 tropical cyclone according to the Saffir-Simpson hurricane

wind scale. Millions of trees were uprooted, agricultural land devastated, transportation ‘@
blocked by debris, communications downed and there were power outages for eight weeks.
Three months on and there is still only a limited power supply to some remote areas.

It was this very same southern state which faced Cyclone Ockhi in 2017, Cyclone Vardah in
2016, man-made flooding in Chennai in 2015, and of course, the Boxing Day Indian Ocean
tsunami in 2004. Around 300 Tamil Nadu fishermen missing after Cyclone Ockhi have never,
been found.

India is part of the Sendai Framework, an organisation that helps participating countries
adopt disaster risk reduction as a key goal in achieving a sustainable society. The cou
only released its first national disaster management plan in 2016, despite all of the ste
the Bay of Bengal having a history of extreme weather events.
Cyclone Gaja stands as a warning to international disaster organisations; they mus
the countries they work with more thoroughly for future weather disasters:They n
clear that taking measures to limit the extent of disaster cannot be volunt;ﬁ)

It will take months to clear the debris and repair the infrastructure, and years f
entire villages across Tamil Nadu. It is time to establish a proper framewor
developing countries to facilitate an effective response to an emergency,
help of other, more developed nations. :

SubQuestion No : 20
Q.20 According to the given passage, all statements are true EXCEP
Ans X A. Many Tamil Nadu fishermen missing after Cyclone Ockhi

country.

Section : General Hindi

Q.1 f3T 1Y g HT HATH WA B

YT :
Ans XA.EﬁWW
& B. S/qdivTG 9HY
X C. agEy Iq 9
X< D.gg 9™

Question ID : 1034352913

Question ID : 1034352912
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Q.3 fau Y areg ® T A€ T F A IUUNT §UPRS & T DI Uga Iifwl
T A TR | et 21
Ans X' A HHIGH
o B. 3G
X C.OER
X D. IR

ID : 1034352919

Q.4 fau ¢ gt & fore i farvmw e &1 =g+ Sl
Srftar 9y g 3R I oA il A AU R

Ans X A.:
X B.;
X C?
& D..

Q.5 fAgfiafad uy #, fRe e IR fiweul # @, 39 fywen o1 7uq &3 &t
P TAIY = A T BT 8
A =T

Ans X' A U&7 ST
X B.UHS R HAT
X C. ¥R P Ed feamn
o D. TG HRaml

gs‘-’*
QQ-
S
e o | S’
4 ¥\
y & &

Question ID : 1034352914

|9

Q7 Praffla s d, Ry vﬁﬁqwaﬁﬁ‘\%wﬁ
Ans
Question ID : 1034352925
Q.8 fau T I BT
et

Ans X' A IIET
X B.fagg
o C. St
X D. 3

Question ID : 1034352915
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Q9 fmfifead aret & | fay area 19 Sk
Ans X' A THTI TR UM 31 ST § Sfed I Tl
X B. gH IR U 1A g H SHtcd Ialm S|
o C. TS GH TR U AT df & FeAled aar S
X D. 58 g1 TR UN &Y MU ad & e Fa S|

Quﬂion ID : 1034352922

Q.10 f3T 1T Xsg T BT WL Xeg TTH [T P
e : well

Ans X A Hfer: gif
X B.g: PR
X C.BR: Sfergn
(D.W:W

Q.11 fmfafeae Tt & @ Tya are 39 S|
Ans X A Tfe gfeal g3 df g9 gRTeHIT Siawy S|
X B. 5§ gieat g1t ad g giTehiT 39w S|
o« C. Bfear g8 o ot g9 ety =1t 1
X D. BfEa BN € & ST Srawa S

Q.12 frgfafEa # @ sreu R e 9 vga Sifo
Ans X A..

X B.°
& C.,
X D.;

Question ID : 1034352923

Q.13 3T 7T 318 F1 WA T
RIS

Ans

Question ID : 1034352920

Q.14 g u

Ans

o« D. Tl

Question ID : 1034352917
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Q.15

Ans

g T 19y A IUYw Weg BT U TP Rad I Bt gfd SR
™ TEA B2

X A El

X B.agl

X c.fog

o D. T8l

Question ID : 1034352918

Q.16

Ans

Comprehension:

T TR T 7T B 1 TR & SMUR WR Ut Uy T T ¥ | i Y eade U auT UdS Y
& IR famed & ¥ 9a! faded |

100 T g, forelt 3 oft g =751 A ghm o6 9 g ) fovelt Tft <fit &t 7o oo o, foree
IR 1 THH IR STHBRT T &1 R R 9gd &1 ST § e St 3iR gfvar & ermyar aaf
39 3y A 92 B ﬁﬁaﬁz%ﬁm%m&sﬂ%mmmaaﬁﬁ%@ﬁaﬁ
3R Ug T Fexe Hifd & =0 H T i 8§ et T
w1969ﬁﬁnaﬁ6ﬁﬁseﬁzm&nﬁwmls@w@%ﬁwmsﬁaﬁﬁa%uﬁ?&n
faumT gRT Tsare R Hisiae Toltdl Aead & T Sfids! SR Gasl &1 g axiel o (disis el
TP Vo U B H RN T AT TAR HRA SR H $EI¢ 1980 & GRS H 3191 AT

gexe B AR e+ el o1 & Ffp Sexe U R I IS 95 AR Aedd! &1 ol 8l
gexe oS, &, & & B Hifd a ara 3y 1 Ia9 SeRie 3R qey 981 Jedw ol

AT B! Yhadl B aoTe D! [ARdT R IUDFIAT 81 STBT T 3R SUARIT B aoie
Y, T B TG ST &1 8T & | JEI3HT 3R IR BT SHBT 3UTE T, $Hb SUTN] Bl SR
3P 9¢1 a1 ¢ 1 SHP! 3 fARdT & BRI IuANTH e Bl T faqufafe sad s al gl
IRAT T SexC UH I AL § 3R H18 1t SHHT IUaNT 3 Hepell ¢ | 3Tl T bl
Bl & Ui Sexc &1 9gd 981 ANIGH 7| T1Y &) I8 Teh TR SR Sl T1e ¢

SubQuestion No : 16
Iufad srufed wer=r &1 M grm?
X A URI A e e
X B.EeA¢ AR e
o C. ST BT 3MAhR
X D. 33 fpe smrn?

Question ID : 1034352928

_ @ == ===

Ans

Comprehension:

wmﬁmwﬁlm%mmmwuamwélmﬁmﬁammw
F IR g & I 9L faed 7).

100 T g, faret 3 oft g 7Kk S gRi o 9T e & foreh T it @t e v 3, o
ST &t T IR SHER U6 B I UR §gd o) S9! 8 e St iR gfar & @y aedt
321 3 & G2 g1 FR-eR Sevie & A & 1 9 Bag ok Hed &) &7 B femn &t
3R T8 TH-1P See Hifd & w0 & Uil g1 J e TS|

T 1969 T fer 514 /A §exric BT AMTSHR [Har| 39 Ja Usa I 1969 T MR®T & uferer
faumT R vear R Uisiae TSIkl Aedd @ T sfide! SR gamTell &I g avret & fafde rea
T oA G U7 A B o1l 111 4T | AR URA &= 7 Sex1e1980 & ax1h H 371 T

gee o) dida 9 9e ot sl Sidl § Fifth Sexc U gaR ¥ 9IS §gd AR Aedd| ol ofd 81
gexe oS, &, P & Higpifa - aral A% &1 Ja el R god 9871 Aead g

AT B! AhAd] o1 dulg STP! [T 3R IUFTAN & | 39P] FHaT 3R IUARIT Bt IoTg
T, 3 T TG XA g gl & NI SR SHBINTN T SUHT SUTE i, T9H IUINT B 3R
31T S dl BT SH fRINal & SR JuHERATS & S o it Sedt o T 8|
AT H SexIc U FASS Al & SR 1 1 ST STINT 32 Febdll §1 M1 7Ia B
THAT & Ul ST Bl Sge. 981 INEH. 81 T 8l I8 Udh T 3R IdT e g |

SubQuestion No : 17

Q.17 ge3AC B AT’ F HeT Al 872

X A Fife g8 [ Gel &1 AT 3|
X B. TP I8 Js T Aedd g

X C. Fifer gg Aead! ol eds gl

o D. T T8 9gd IR Acdd! o oid g1

Question ID : 1034352930
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Q.18

Ans

Comprehension:

TS TR T T B | i & SIYR WR Utd Y AT T B | T dY eAYdes Ue auT Udd Uy
F IR e & § 98 fawed T

100 ITe Ugd, foreht = ot g =78 I g % U e 81 foreht Tl < &t <= e o, Forr
IR B T IR TSR T &) R R 9gd &) St § fira st siR gfan & ey e
7 0T H I3 B | eR-4R gexie & b & T 39 Brae 3R Aed & &7 § foH Tl
3R g qH- gee Hifd & T & gt gfvar 8§ T TS

T 1969 T fer 51 ot 7 §exe &7 SAMIHR 07| 3] I Us I 1969 H @Rt & uferer
faumT R vear R vieiae Toiklt Aead & W sfids! 3R Gamel & g axret & fafde reat
T WA @ UG S | ST 717 4T §HR YR o= H $exc 1980 & ax1h § 3711 T

gexe 3l Gt § e 1t g1 S § i Sexe T g I IS 9gd R ACad] &1 o1d gl
goRe oM. A P & T ifd A aTel 3y &1 oy Jael 3R qad g7 Aedd gl

T B YAl B golg D! [IRdT iR IUAT 81 SHH! T 3R IUARIIT B aog
W, A TR WG ST &Y 8T & | I3t SR ST BT SHHT YT T, THb ITIAN B 3R
3P T¢1 a1 31 3P| 3 fIRIAT H RO STATH AT BT T feT ufafe st o < gl
IRd B AT TP Traol-es JaeT § iR H18 1t STHT SUINT R qhell § 1 ATl AT B
THAd & Ui Sexie &1 9gd 931 AN 8| 1Y & I8 U IR 3R Il T1e g |

SubQuestion No : 18
YR 3§ §ec DI 4 S | M1 Y712
o A. 1980

X B. 1969
X C. 1990
X D. 1880

Question ID.: 1034352932

Ans

Comprehension:

T TR T T B | T F SMYR WR Ut Uy U e B | e &Y AMYdD Ue Ul Td Uy
F IR g & 3 9t fawed 1

100 T Ugd, forsit ¥ 1t g =751 Wrem g1 foh SO Ga &l feh<it THI it &1 T R o, Fored
ST B T TR TASHRY T 8 I IR 9gd &) SRS fHra St iR gfar & e gt
37 30 H 2 g1 4R-4R Fexrie & b & T $6s BIIS SR Hed 8% &7 B fom i
3R UG dhcb §exe pifd & =0 § G g 7 e T3 |

T 1969 § o o off A Sexaie &1 IR Pl 38 Fa8 Ugel G, 1969 H 3iifkep] & UfcRan
QU R Tsar R Tieiae Toldt Aead &AW Sfidbsl iR Y18l ol.g =Tl & i ou
T ol @ U - | 1T 717 AT §HAR YRl &1 H Sex-ic 1980 & o= # 37mar ATl

gexie ) Tl § Ac ot el W1 8 I §exe TP Ik O IS §gd IR Acad! B o g
geAe S, & & &7 § ifd am aTaT 3 1 Jo8 FoRieit 3R gy 957 cad 2l

T B YH Al BI o8 SUD! (AR SR ST &1 B! LA 3R JTAATAT B a8
Y, T TR TG ST &1 8T & | JaI8HT SR SRR BT STBT UTE F, $HD SUTN B 3R
3P T a1 B 1 3B 34! IRVl & FRU SRR HT T fe ufafe sed! o W 21
IRAT T SexC TP T~ AU § SIRTS 1 SHBIZUINT R YHdl ¢l 3Tl Td DI
THaAdT & Ul Sere &1 Sgd a8l ANTCH g1 1Y 8l 8 Ub TR 3R I |1e g

SubQuestion No : 19

Q.19 HE Pt hadT $ D s 9ad 81 GHeH 22

X A HURA &

o B. 3T B
X C. g3 &l
X D. sER®I &1

Question ID : 1034352931
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Comprehension:

TS TR & T B | IR 3 SIUR IR Utd Uy AT U § | TR Y eATydds Ue adT Udd Uy

F IR e & § 98 fawed T

100 ITd g5 Q, fareft = oft g T Tra g6 % SU W & el Ut <6 Bt <o R 3, o
IR B THH TR TSR T &) R R g &) S fira St siR gfan & ey e
29 3 B 2 81 FR-eR geziie & A & Ty 39% Brae 3R Aed &R a7 8 fem ot

3R I8 qH-IP Sexc Hifd & w0 § Ti g o tha S|

T 1969 T fer 514 oft 7 §exAe &7 SMMISHR fHaT| 3] I Usd I 1969 H AR & uferer
ﬁmmmﬁaﬁﬁ@wuﬁﬁmﬁ%wm@?weﬁaﬁ?m%ﬁﬁmm&
T oA @ UG A | 11 77 4T §HR YR o= H $exc 1980 & a1 § 371 T

gexe Bl Gt § e 1t g1 S § Hif $e3e T g I T dgd R ACad] &1 o1d gl
e ofrs. A & & T Hifd a aTer 3y &1 Ja Jamel 3R qad g7 Aedd gl

AT B! YAl B golg D! [IRdT iR IUAIAT 81 SHH! T 3R IUARIT B aog
W, A TR TG ST &Y 8T 8 | JETI3HT SR ST BT STHT YT T, THb ST B
3 §¢T ST &1 3T 34T TIRTAT S PR ITANTH AT Bt Team fe ufafeT ggdt o W&t
IRAd B AT TP oo AT § iR H18 1t STHT SUINT R qhell ¢ 1 ATl T B
ThAd & TS Se3IC H1 9gd 991 ANTEH o | T B I8 Ud IR SiR Tl e g

SubQuestion No : 20
Q.20 HrgER PT yafaard Teg 741 82
Ans X A geC
X B. TR
X C.do®

o D. TS

A

Section : Discipline1

Q.1 In the context of cognitive development, which a
of learning?
I. Psychometric approach
1. Behaviorist approach

Ans X A.Onlyll
" B.Only |
< C. Neither | nor Il
< D.Both land Il

Question ID : 1034352941

Q.2 Which physical skills inv
I. Fine-motor skills
Il. Gross-motor skills

Ans 7 A.Only |
< B. Neither |

25 C.Only I
/< D.Both land Il

0‘ Question ID : 1034352934
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Q.3 In bayley scales of infant development, which of the following pairs is correctly
matched?

I. 12 month — walk alone.
1l. 14-16 months — walk down stairs with single feet.

Ans X A.Onlyll
#< B. Neither | nor Il
< C.Bothland Il

& D.Only | Vod

: 1034352943

Q.4 In the context of sleep patterns, which of the following statement is correct?
I. it change throughout the growing-up years.
1l. Young children may develop elaborate routines to put off going to bed, and it
take them longer than before to fall asleep.

Ans X A. Neither I norll

«” B.Bothland Il
2 C.Onlyl ‘é’
25 D.Only Il @

Q.5 What is systems of action, in the context of motor skills?
I. Increasingly complex combinations of skills.

1. It permit a wider or more precise range of movement a ontrol of the %
environment.

Ans X A.Onlyl
25 B. Neither I nor II
«” C.Both land Il
2 D.onlyll

Question ID : 1034352933

Q.6 Which of the following comes under C
five factor mode?
I. Fantasy
1l. Anxiety

Ans X A.Onlyll
25 B. Neither I nor Il
< C.Bothland Il

& D.Only |

Question ID : 1034352939

Q.7
Ans o A. Self-efficacy

#< D. Self-concept

o

Question ID : 1034352951
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Q.8 In the context of psychosocial development, which of the following pair is correctly
matched?
I. Socialization — process by which children develop habits, skills, values and motives
that make them responsible and productive member of society.
1l. Internalization — the development of industries in a place or region on a wide scale.

Ans o A Only |
75 B.Only Il
#< C.Bothland Il
25 D. Neither I nor Il

ID : 1034352952

Q.9 Which of the following sub stage of piaget’s sensorimotor stage of cognitive
development is correctly paired?
I. 1 to 4 month - primary circular reactions
1l. 4 to 8 month — secondary circular reactions

Ans X A. Neither | nor Il

#< B.Only | &
& C.Both land II 6"
25 D.Only Il |

Yo

Q.10 In the context of cognitive development, what is classical ca
I. Learning based on associating a stimulus. f
1. It does not ordinarily elicit a response with that stimu e response.

Ans X A. Neither | nor Il

o” B.Both land Il #\
2 C.Onlyl &
2 D.onlyll

Q.11 Which of the following pair of attache
I. Secure - Garima plays and explore
Il. Insecure-avoidant - When Ram'’s
with her.

Ans  # A. Bothland Il
#< B.Only Il

2 C.Onlyl
#< D. Neither I nor Il

‘ﬁ: Question ID : 1034352949

disease iQing pathological dependence on

&

Q.12 Which of the
alcohol?

Ans X A A
X B.
«# C. AlCoholi
< D. Familism

Question ID : 1034352937
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Q.13 In the context of motor development, which of the following pair is correctly matched?
I. Age 6 — children can throw with proper weight shift and step.
1. Age 7 — one footed balancing without looking becomes possible.

Ans X A Only |
< B.Only Il
#< C. Neither I nor Il
" D.Both land Il

: 1034352936

Q.14 According to Piaget, which of the following limitations of preoperational thought is
correctly matched?
I. Focus on states rather than transformations — children focus on one aspect of a
situation and neglect others.
1. Egocentrism — children assume everyone else thinks, perceives and feels as t
do.

Ans X A Onlyl
«” B. Only Il
< C.Bothland Il
#< D. Neither I nor Il

Q.15 In piaget’s terminology, what is allocentric?
I. Able to objectively consider relationships among objects
Il. Understanding that a person or object still exists when

Ans X A.Bothlandll

2 B.Only Il Q\
#< C. Neither I nor Il &
«” D.Only |

Question ID : 1034352945

Q.16 What is gender?
Ans o A. Significance of being male or

< B. Significance of the rich and
#< C. Significance of the nu
< D. Significance of appeg

b Question ID : 1034352948

I. Cholesterol
Il. Diabetes

Ans X A. Neithe
& B.On

Question ID : 1034352938
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Q.18

person’s perception of it.
Ans X A. Economical referencing

#< B. Political referencing
#< C. Cultural referencing
«” D. Social referencing

is the understanding of an ambiguous situation by seeking out another

ngin ID : 1034352950

Q.19
Ans X A. Turbo image

< B. Drive image
< C. Micro image
«” D. Body image

is the descriptive and evaluative beliefs about one’s appearance.

Question ID : 43529 g

Q.20
temperament.

Ans X A. Goodness of healthy
#< B. Meanness of healthy
o” C. Goodness of fit
#< D. Meanness of fit

is the appropriateness of environmental demands and const

Section : Discipline2

Q.1 Which of the following statements is corr
school under the Right of Children to F
l. Teaching and learning material shal
1. Minimum 50 hours teaching per w,

Ans X A.Bothlandll

75 B.Only Il
#< C. Neither I nor Il

o D.Only |

b Question ID : 1034352957

Il. Inductive a
Ans X A.O

« C.Be
25 D.Only Il

Question ID : 1034352965
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Q.3 Piaget conceives of cognitive development as consisting of series of stages. Which of
the following pairs of ‘Stage-Approximate age’ is correct?
l. Sensorimotor — 0-2 years.
1l. Concrete operational — 12-15 years.
1ll. Formal operational — 2-7 years.

Ans X A.Onlyll
2 B.land |l

«” C.Only|
2 D.landlll ‘&

ID : 1034352969

Q.4 What is the Psychological importance of Inclusive education?
I. Development of safe and secure feeling in the group.
Il Confidence in the individual ability among the diversity.

Ans X A. Neither I norll

#< B.Only |
X C.onlyll 'éb
«” D.Both land Il %

Q.5 Who among the following was associated with Indian Home
I. Subhash Chandra Bose
1l. Bal Gangadhar Tilak

Ans X A. Onlyl
25 B.Both land I

& C.Only I
25 D. Neither I nor Il

Q.6 Which of the following can be included
confining themselves to the textboo
I. Providing newspapers and periodi
Il. Visiting local market and worki
1ll. Using electronic media like te

Ans X A.landlll
X B.onyll
o C.lI1and Il
2 D.lland Nl

Question ID : 1034352970

Q.7 One of the ki
I. Equality

X C.onlyll
2 D.Only |

Question ID : 1034352956
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Q.8 A multi-level situation during teaching arises in
I. Mono-grade situation.
Il. Multi-grade situation.

Ans X A Only |
o” B.Both land Il

X C.onlyll
25 D. Neither I nor Il

D : 1034352966

Q.9 The principle ‘the first education should be purely negative’ was given by
Ans X A.John Dewey

#< B. Immanuel Kant
«” C. Jean-Jacques Rousseau

#< D. Alfred Binet

w
a

Question ID : 1034

Q.10 Which of the following pairs of ‘Event-Year’ is correct in the conte
National Movement?
I. Jallianwala Bagh Massacre — 1915
Il. Swadeshi Movement — 1905

Ans ¢ A Onlyll

3

2 B. Neither I nor Il %
% C.Both land Il 'Q ‘
Vo

< D.Onlyl

.\
.éstion ID : 1034352958

Q.11 In the context of self-regulation, what is con
I. Term for obedience of a parent’s orders
Il. Term for wholehearted obedience of a

Ans X A. Neither I nor Il
2 B.Only |

& C.Only Il
25 D. Both l and II

Q Question ID : 1034352953

Q.12 In the context of chil a i owing factors that are

Question ID : 1034352964
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Q.13 A lesson planning should have which of the following characteristics?
I. It should be objective-based.
1l. It must be practical or can be implemented in real situations.
1Il. It should be brief, comprehensive and simple.

Ans X A.Onlylll

«” B.I, Iland lll
2 C.lland Nl
A D.landll &

1 1034352971

Q.14 Which of the following team activities is included in the intervention process?
I. Consultation and partnership with parents.
1l. Evaluate the student learning outcomes.

Ans X A.Onlyl
«” B.Both land Il
#< C. Neither I nor Il

25 D.Onlyll

Q.15 In the context of power, which of the following pair is correctly matched?
I. Power over — Involves a relationship of domination or subordination betwee

individuals or groups.
0 achieve collective

Il. Power to — Involves people organizing with a common p
eness. Q

goals.
Ill. Power within — Refers to self-confidence, self-aware

Ans X A.l lland Il

¥

X B.lland Ill s‘b

X C.landll

« D.land i A

o Eb Question ID : 1034352954
| S —
Q.16 Which educational thinker has said ollowi > erely started ‘ h this one
simple idea that education should be dissocia om life.’ Ky

Ans  «” A. Rabindranath Tagore

#< B. Jawaharlal Nehru
#< C. Mahatma Gandhi
< D. Satyaijit Raj

Question ID : 1034352972

Q’
&
Sy Q

Q.17 Which of the fo g state OT corr out Rosa Parks?
I. She was a Sri L3 Nomen.
1l. She refused to give bus seat to a n on 1 December 1955.

1ll. Her Refusal started 3 tion which | e civil rights movement.
Ans o A 0
X B.
X C.landll o
2 D.lland Il

Question ID : 1034352959
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Q.18 Cognitive disability is used to replace which old terms?
l. Mental retardation
Il. Physically handicapped

Ans X A.Bothlandll
< B.Only Il

«” C.Only |
25 D. Neither I nor Il

: 1034352963

Q.19 Play-way method of learning is based on many principles. Which of the following is
NOT that principle?

Ans  # A. Principle of logical thinking

#< B. Principle of creativity
#< C. Principle of natural instincts

#< D. Principle of complete freedom ‘

3

Yy
o
&
"

N

Q.20 Which of the following is the indicator of empowered women?
I. Awareness about her right.
Il. High self-esteem.

Ans X A. Neither I norll
< B.Only Il

25 C.Only |
«” D.Both land Il

stion ID : 1034352960

Section : Discipline3

Q.1 Which of the following processes o
Ans X A. Singing and dancing

«” B. Speaking and listening
#< C. Reading and writing
< D. Watching and playi

b Question ID : 1034352982

Question ID : 1034352985
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Q.3 At around the age of one, children produce their first recognizable words which are
also known as

Ans X A. babbling
#< B. cooing
«” C. one word stage
#< D. two-word stage

ngi n ID : 1034352979

Q.4 When children’s are listening to something then
I. they are acquiring language and learning to understand.
1l. they are absorbing pronunciation and intonation.

Ans X A. Neither I nor i
«” B.Bothland Il
X C.onlyll
< D.Only|

3
S

Q.5 Which of the following is the example of student friendly method
I. Play way method
1l. Problem solving method

Ans X A. Onlyll
«” B.Bothland Il

25 C.Only |
25 D. Neither I nor Il

N3

N
.éstion ID : 1034352976

Q.6 Hard disk and DVD-R are known as
Ans X A. Input devices

S

25 B. Output device
«” C. Storage device

$ Question ID : 1034352973

2 D.CPU
Q.7 In the context of demons g step is correctly
matched?
I. Planning — motivat 2 d 3 i ing the experiment

keenly and to accept

Question ID : 1034352978
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Q.8 Which of the following combination of Assessed thing — Tools and technique used is
NOT correct?
|. Mathematical Reasoning — Observation of interaction in the group
1. Using mathematical knowledge to solve the problems — projects and assignments

Ans X A.Bothlandll
#< B.Only |
X C.onlyll
«” D. Neither | nor II &

: 1034352988

Q.9 Which of the following combination of type of objective type questions and its relate
question is not correct?
I. Recall type questions — Polythene is biodegradable (true/false)
1. Recognition type questions — what is the percentage of nitrogen in air?

Ans X A. Neither I norll

#< B.Only |
&# C.Both land I é
25 D.Only Il %

Q.10 Which of the following is a potential medium to express ourse
our lives?
l. Poem
Il. Lesson

Ans X A. Onlyll
25 B. Neither I nor II

«” C.Only |
#< D.Both land Il

Q.11 The use of assessment results focuse
are those heads?
I. Identifying strengths and weakn
1. Identifying and addressing typ
1ll. Providing feedback to learne

Ans X A. Onlylll
«” B.l, Iland Il
2 C.lland Nl
< D.Only Il

ms in mathematics lear
other stakeholders.

<

Question ID : 1034352987

Q.12 Which of the i t r centered approach?

I. Knowle i student.

1l. The fi irecting rather than on learning.
Ans X A

< B.Only Il
«” C.Both land Il
< D. Neither I n

Question ID : 1034352977
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Q.13 ‘In determining the longitude and latitude of a place and in preparing maps, the
knowledge of plane and solid coordinate, geometry is of absolute necessity.' This
given statement shows the relation of mathematics, with which branch of knowledge?

Ans X A. History
< B. Art education
#< C. Literature
o D. Geography

: 1034352989

Q.14 While introducing new vocabulary, what can a teacher do?
I. Punish children for repeating a new word.
Il. Get children to colour pictures of the new things they can name.

Ans X A.Onlyl
#< B.Both land Il

< C. Neither I nor Il
" D.Only |l

Q.15 Which of the mode of computer assisted learning is correctly
I. Drill and practice session — Allows experimental data to be a
Il. Tutorial Mode — Information and explanatory material is pre
segments
lll. Data analysis — It is the question — answer type progran

Ans X A.l lland Il

«” B.Only Il

L
X c.onlyll Ny
A D.land i &

Q.16 ‘Terms having same algebraic factors
different algebraic factors are know
combination is correct?
l. 2a, — 3a — Like terms
Il. 2a, 5ab — unlike terms

Ans X A.Onlyl
25 B. Neither I nor Il

X C.onlyll
«” D. Both land Il

Question ID : 1034352986

Question ID : 1034352992
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Q.18 In the context of listening story, which of the following statement is correct?
I. It depends on the interest of the person.
1l. It enhances the creativity of the person.

Ans X A Only |
o” B.Bothland Il
#< C. Neither I nor Il
2 D. Only Il

D : 1034352984

Q.19 In computers,
processing speed.

Ans X A. Mini computers

are the fastest, most expensive machines and they have high

o B. Super computers
#< C. Micro computers
#< D. Main frames

Q.20 If Ashima an environment studies teacher is teaching on the the
case comprehensive assessment can include which of the foll
I. Group discussion on food consumed by animals.
1. Identifying fruits and vegetables by touch only.
lll. Listing the food items enjoyed by touch only.
IV. Listing the food items enjoyed by your friends and fa

Ans X A.llandlll

< B.Only Il $
& C.1, lland Il KN
X D.Only| &

Section : Discipline4

Q.1 Which of the following is a direc
I. Dry pastels
1l. Crayons

Ans X A.Onlyll

< B.Only |
«” C.Both land Il

Question ID : 1034352996

< B.Only |
X c.onlyll
& D. Both I and Il

Question ID : 1034352997
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Q.3 While studying moral development among adolescents, Carol Gilligan focused on
women’s motives in moral judgment. She found that men rely more on
I. Justice orientation.
Il. Care orientation.

Ans X A. Neither I norll
#< B.Both land Il
X C.onlyll
& D.Only| &

: 1034353004

Q.4 The adolescence in the discipline of sociology has been examined by many
psychologists. Which of the following psychologists is NOT associated with
sociological theory?

Ans X A. Kurt Lewin

/< B. Edgar Friedenbeng
#< C. Allison Davis
«” D. Glen Elder

Q.5 To learn about the ability of synthesis, what type of question a
class?

Ans X A. Differentiate

#< B. Conclude
«” C. Reconstruct
< D. Select

S

Question ID : 1034352993

Q.6 Which of the following statements is corre
I. Growth spurt is complete at around ag
Il. Growth spurt begins at about 10-12

Ans X A. Neither I norll
" B.Only |

X C.onlyll
#< D.Both land Il

Question ID : 1034353008

Q.7 Which of the followi
Ans X A.Lawn tenni

Question ID : 1034352998
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Q.8 Which of the following statement is NOT correct?
I. In the game of chess, each players has 16 pieces in the beginning.
Il. The player with black pieces always commences the game of chess.

Ans X A. Neither | nor Il
< B.Bothland Il
& C.Only Il
X D.Only|

: 1034353000

Q.9 Fufifed & & #19-91 T ST Hgal ¢ 6 1l $© Wi 0 @ § 98 TURT IWR 872

Ans X A faoHHHT SR
X B. ST BIRN
X C. TAmEmE SR
o D. ST HIRT
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Q.10 Lack of ‘community participation’ is a common problem with progr:
meal scheme. Which of the following things can be done to prom
participation?

I. Make regular enquiries from children about the quality of mi
nutritious the meal is and etc.

1l. Ensure surveillance of the food delivery arrangements a enditure of funds. Q

Ans  # A. Bothland Il
7< B.Only |
#< C. Neither I nor Il
X D.Only i

Q.11 School garden can also teach
I. Place-making
1. localization

Ans X A.Onlyll
< B.Only |
o” C.Both land Il
#< D. Neither I nor Il

b Question ID : 1034352999
Q.12 Which of the foll
adolescents?

I. An adolesce isam al man.
1. Behavior i of the person with his

Ans X A

X C.onlyll
2 D.Only|

Question ID : 1034353006
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Q.13 National policy of children, 2013 considers child as any person below the age of

Ans o A 18 years
#< B. 10 years
/X C. 12 years
#< D. 15 years

ngi n ID : 1034353003

Q.14 In India, Adolescence Education Programme was launched in
Ans o A 2005

2 B. 2000
X C.2012
X D. 2010

Question ID : 3530 &

Q.15 frgfafea & o= A ga e 82
1. FaTET

II. gerr
. RIAHTHT

Ans g AL T
X B.FHadll
X couarn
X D.%ad |

Q.16 Who popularly known as ‘father of history’?
Ans X A. Aristotle

o B. Herodotus
< C. Democritus
< D. Epicurus

, & Question ID : 1034352994

Q.17 Which of the following i
Ans o A Leg thrust

< B. Knee catch

Question ID : 1034353012

Q.18
Ans

/< B. Dirgaya Pr.
«” C. Anuloma

#< D. Viloma Pranayama

Question ID : 1034353010
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Q.19 Which of the following statement is correct regarding first reconceptualization of
population education?
I. It was a response to the recommendation on the international conference on
population of 1984,
1l. The conceptualized framework changed its demography-laden concept.

Ans X A. Onlyll
«” B.Both land Il

< C.Onlyl
25 D. Neither I nor Il ‘&

ID : 1034353007

Q.20 Which of the following is the nature of history subject?
I. It is an unending dialogue between the present and the past.
Il. It is the interpretation of the past with intention of predicting future.

Ans X A. Neither I norll

«” B.Bothland Il
X C.onlyll \ *qév
2< D.Onlyl %

Section : Discipline5

Q.1 Kalajathas is a Community initiative celebrated in whic
I. Rajasthan
1l. Bihar

Ans X A. Neither I norll

#< B.Only |
o” C.Both land Il

2 D.onlyll

Question ID : 1034353028

| environment

«” C. Maintaining healt p I's

‘§

Question ID : 1034353013

X B.O
2 C.Only li
«” D. Neither | ng

Question ID : 1034353015
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Q.4 Which of the following functions is performed by school management committee?
I. Monitor the looking of the school.
1l. To amend the constitutional Acts Related to education.

Ans X A. Neither | nor Il

" B.Only |
#< C.Bothland Il

2 D.Only Il

: 1034353030
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Q.5 are those coordinated activities which are completed in natural environment
with some important skill for learning activity.

Ans  # A Project

#< B. Observation
#< C. Practical
#< D. Excursion

N

S
O
&
<

S

stion ID : 1034353014

Q.6 Which of the following pair is correctly matched in the context o
I. Potter — Makes clay utensils
Il. Farmer — Agricultural activities

Ans X A Onlyl
«” B.Bothland Il

X C.onlyll
25 D. Neither I nor Il

Q.7 Which of the following institution has been
I. Parent Teacher Association (PTA).
1. Village and Urban Slum Level Educati
1. Members of Panchayati Raj instituti

Ans X A.llandlll
«” B. I lland Il
A C.landlll
2 D.Only |

Question ID : 1034353022

Q.8 Education in the true

Question ID : 1034353021
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Q.9 In India, which of the following bodies have been established under SSA?

I. Block Resource Centres
Il, Cluster Resource Centres

Ans X A. Neither | nor Il
< B.Only |

X C.onlyll

«” D.Both land Il

: 1034353032

Q.10 In concentration camps in Nazi Germany, were the prisoners who acted as
trustees, having special privileges or well-known prisoners.

Ans X A.Kann

o B. Capos
#< C. Shema

#< D. Finis ‘

N

Y
o
&
)

Q.11 What is the role of parents in assessment?
l. Only educated parents can evaluate the progress.
1. llliterate parents can also co-operate in the learning proces

Ans X A Onlyl
#< B. Neither I nor Il
& C.Only i
25 D. Both l and II

N
.éstion ID : 1034353016

Q.12 Which of the following is important for the ¢
I. Attitudes
1. Skills
1. Knowledge

Ans & Al lland Il
2 B.landll
A C.landlll
< D.lland Il

>

O
béb
0‘

Q
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Question ID : 1034353029
Q.13 In concentration ca hat kind of prisoners would be sent to one
of the big central ¢ h gas cham and crematoriums?
I. Sick or feeble .

Il. Physically fi

Question ID : 1034353020
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Q.14 Which of the following is the leadership function that is identified by Leithwood and
Duke?

I. Transformational

1. Immoral

25 A. Neither | nor Il
< B.Only Il

< C.Bothland Il
& D.Only1

Ans

: 1034353026
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Q.15 According to whom, the distribution of income is determined by the distribution of jo
opportunities and not by the distribution of labour queue?

Ans X A. Schultz
#< B. Henri Fayol
«” C. Thurow

25 D. Harold Koontz

Q.16 Which of the following point is important while planning for the acti
work education?
I. Providing a chance to arouse interest.
Il. Providing opportunities for self-expression.
1ll. Bringing awareness about environment conservation.

o Al lland lll
#< B.Only |

2 C.only
2 D.lland Nl

Ans

Q.17 Through the functions of planning, org
process the goals are set and achieve

Ans  «# A. Management
/< B. Abatement
#< C. Deferment

#< D. Encroachment

Q

O

Question ID : 1034353024

Q.18 Which of the follo tched in ¢ of leadership?
I. Relationship — he leader re ents.
II. Mutual influ or exert: the people and is influenced by
them.
Ans X A Only| Q
iy )
Xc.
25 D. Both | and o

Question ID : 1034353027
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Q.19 Which of the following statement is correct, in the context of school-community
relationships?
I. The behavior of the teacher leader is the most important factor.
Il. It is dependent on the values, attributes, skills and actions of the teacher leader.

Ans X A. Neither I norll
< B.Only Il
X C.only
«” D.Both land Il é

: 1034353025

Q.20 Which of the following community participation is correctly matched with their state
government initiatives?
I. Madhya Pradesh — Jan Shiksha Adhiniyam Act 2002.
Il. Assam — Bal mitra kendras.
1ll. Bihar — Shala pravesh utsav.
IV. Gujarat — Committees of sakhi, sahyogini and Anganwadis.

Ans X A.landlll
«” B.land IV
2 C.lLlland Il
2 DI, land IV
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